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Paper 1l GAT

Part —-A English

Directions:- In each of the following questions, out of
the given alternatives, choose the one which best
expresses the meaning of the italicized bold part of
the sentence.

1. He is candid politician.
(@) frank
(b) faithful
(c) fearless
(d) soft spoken

Sagacity increases with age.
(a) Wisdom

(b) Love

(c) Maturity

(d) Efficiency

We must eradicate corruption.
(a) minimise

(b) control

(c) condemn

(d) uproot

Science has revealed the mysteries of nature to
man.

(@) released

(b) disclosed

(c) opened

(d) cleared

He was dismissed from service because they found
him dishonest.

() prevented

(b) removed

(c) retired

(d) stopped

Reading a poetry is not congenial to his taste.
(a) suited

(b) beneficial

(c) helpful

(d) preferable

7. The bounties of nature are being exploited by
man.
(@) gifts
(b) products
(c) rules
(d) ecological balances

8. A bone got stuck in his gullet.
(@) stomach
(b) molars
(c) chest
(d) throat

India is still virgin land exploring its tourism
potential.

(a) undone

(b) unexplored

(c) uncouth

(d) unexploited

. | have told him many_times not to do that.
(@) several
(b) unlimited
(c) endless
(d) numberless

Directions : Each of the following questions consists
of a sentence in which one word is italicized. It is
followed by some words. Select the word which is
closest to the opposite in meaning to the italised word.

11. He has a superficial knowledge of the subject.
(@) wide
(b) profound
(c) sufficient
(d) excessive

. His style of writing is quite verbose.
(@) lucid
(b) succinct
(c) unusual
(d) comical

. His smooth manners endeared him to everyone.
(@) hard
(b) rough
(c) gruff
(d) tough

. Everybody called it a lavish party.
() expensive
(b) frugal
(c) wasteful
(d) big
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15. The dinner set she presented to me was durable (d) None of these

enough.

(a) worn out
(b) fragile
(c) light

(d) delicate

. I worship him as my ideal.
(@) deify
(b) despise
(c) abuse
(d) neglect

. The influence of political broadcasts on elections
is considerable.
() inadequate
(b) uninfluential
(c) neglible
(d) insignificant

. The stranger who stayed with us was a ruthless
fellow.
(@) candid
(b) sympathetic
(c) cordial
(d) courteous
. His arrogant behavior made him successful in his
trade.
(@) flattering
(b) humble
(c) polite
(d) pleasant

. Giving alms to the poor is considered holy.
(@) horrible
(b) obnoxious
(c) profane
(d) offensive

Directions: In each of the following questions,
choose the alternative which best expresses the
meaning of the idiom/phrase printed in bold type.
21. A storm in a teacup

(a) Unexpected event

(b) A danger signal

(c) Much excitement over something trivial

(d) A great noise

22. To keep one’s head above water
(@) To be cautious

(b) To keep out of debt

(c) To remain aloof

. To go at each other hammer and tongs

(@) To fight with weapons

(b) To argue noisily

(c) To hug each other

(d) To go crazy about meeting each other

. Once in a blue moon

(@) Once ina month
(b) Bi-weekly

(c) On rare occasions
(d) Every now and then

. To hit the jackpot

(@) Togamble

(b) To get an unexpected victory
(c) To be wealthy

(d) To make money unexpectedly

. A pipe dream

(@) A pleasant

(b) A bad dream

(c) Animpractical plan
(d) A foolish idea

. A cock-and-bull story

(@) A true story

(b) A children’s story

(c) A story of animals

(d) A foolish and concocted story

. To beat the air

(&) To make frantic efforts

(b) To act foolishly

(c) To make efforts that are useless or vain
(d) To make every possible effort

. To smell a rat

(@) To detect bad smell

(b) To misunderstand

(c) To suspect a trick or deceit
(d) To see hidden meaning

. To lose one’s head

(a To go mad

(b) To become nervous

(c) To become confused and over excited
(d) To lose the balance
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Directions(Q.Nos. 31-40): In each of the following

guestions, there are six sentences marked S1, S6, P,
Q. R, S. The positions of S1 and S6 are fixed. You
are required to choose one of the four alternatives
which would be the most logical sequence of the
sentences in the passage.

31. S1. But how does a new word get into the
dictionary?
S6. He sorts them according to their grammatical
function, and carefully writes a definition.
P: When a new dictionary is being edited, a
lexicographer collected all the alphabetically
arranged citation slips for a particular word.
Q: The dictionary makers notice it and make a note
of it on a citation slip.
R: The moment a new word is coined, it usually
enters the spoken language.
S: The word then passes from the realm of hearing
to the realm of writing.
(@) PQRS
(b) PRSQ
(c) RQPS
(d) RSQP

. S;. Gandhiji’s first political fast was made soon
after his return from Africa.
Se. He did not fast against the mail owners, but in
order to strengthen the determination of the
strikers.
P: He had also received help from this man’s
sister.
Q: This was when the poor labourers of the cotton
mills of Ahmedabad were on strikes.
R: He was a friend of the largest mill owner.
S: Gandhi had made the strikers promise to remain
on strike until the owners agreed to accept the
decision of an arbitrator.

(@ PQSR

(b) QSRP

(c) RPQS

(d) SRPQ

33. S;. Kabir knew that Ramananda got up very early
in the morning and went down on the steps of the
‘ghat’ to bathe in the waters of the sacred Ganges.
P: As Ramananda came down the steps before
daybreak for his usual bath, he trod on the sleeping
man.

Q: Kabir at one jumped up and threw himself at
the feet of the preacher.
R: “Ram, Ram”, he exclaimed in astonishment.

S: One dark night, Kabir went to the ‘ghat’ and lay
down on one of the river steps.
Se. He said, ““You have given me the mantra,
‘Ram, Ram, ‘I have become your disciple.”
(@) PQSR
(b) PRQS
(c) RQPS
(d) SPRQ

34. S;. We must also understand that the fruits of
labour are sweeter than the gifts of fortune.

Ss. The best life, therefore, is lived both in
thought and deed.
P: Moreover, too much of thinking is also a
disease.
Q: Indeed, thought and action can be separately
analysed but can never be separated from each
other.
R: Hence, thought to be complete demands
action and action without thought also has no
value.
S: It keeps us depressed and gloomy.
(a) PSRQ
(b) QRSP
(c) RQPS
(d) SPOR

35. S;. Smoke oozed up between the planks.
P: Passengers were told to be ready to quit the
ship.
Q: The rising gale fanned the smouldering fire.
R: Every one now knew there was fire on
board.
S: Flames broke out here and there.
Se. Most people bore the shock bravely.
(@) QPSR
(b) RSPQ
(c) QSRP
(d) SRQP

Direction: Reconstruction of Sentences.

36. 1. Long, long, time ago

P: who lived with his virtuous wife

Q: in a country called Chinchinchoo

R: there ruled a noble a noble king

S: and seven daughters-

6. pretty, graceful and well-versed in fine arts.

(@) PSQR

(b) QRPS

(c) RPSQ

(d) SQRP
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37. 1. If you are serious about (b) QSPR

P. vocabulary building not a hobby, (c) RPSQ
Q: you will have to make (d) SRQP

R: an absorbing interest, L . .
S: increasing your vocabulary, Directions: (Q. Nos. 41-50) Find errors, if any.

6: or even an obsession. 41. This is the boy (a)/ whom I think had won (b)/
(a) PQSR the gold medal in the Dance competition. (c)/ No

(b) PRQS error (d)
(c) RQPS

(d) SQPR . Mahatma Gandhi taught us (a)/ that one should

respect (b)/ the religions of others (c) as much as

38. 1. Guru Nanak evolved his own. (c)/ No error (d)

P on omnipresence of God . People who are averse with (a)/ hard work (b)/

Q: with his simple teachings generally do not (c) succeed in life. (d)/ No error
R: a new religious outlook ©)

S: and removal of
6. the evil religious practices. . Most of the Uttar Pradesh (a)/ is an extremely
(@) PQRS fertile plain (b)/ between which the river Ganga
(b) QSPR flows. (c)/ No error (d)

(c) PRSQ
(d) RQPS . India is in no way (a)/ inferior than the U.S.A.
(b)/ in the fertility of soil (c)/ and in the richness
39. 1. If all the nations of minerals resources. (d)/ No error (e)

P: for the common good of mankind _
Q: then they will never fight with each other . One of the drawbacks (a)/ of modern education

R: work together are (b) / that it does not encourage original

S: and agree to obey these laws, thinking. (c)/ No error (d)
6. and there will be no war.
(a) PRQS
(b) RPSQ
(c) RQPS
(d) SQRP

. | finished my work (a)/ before we reached his
place (b)/ with great difficulty of heavy traffic.
(c)/ No error (d)

. Until he has confessed his fault (a)/ he will be

40. 1. No part of this publication may be kept (b)/in prison. (c)/ No error (d)

P. without the written permission
Q. reproduced, stored in or transmitted
R: of the copyright owner and
S: inany form or by any means
6: the publisher of this book.
(@) PQRS

. | have seen (a)/ that film last year, (b)/ but I do
not remember its story. (c)/ No error (d)

. A group of friends (a) / want to visit (b)/ the new
plant as early as possible. (c)/ No error (d)

Part -B G.S.
51. In which one of the following cities 51. fArafaf@a aed & & g s H U &

country’s first Indian Institute of Skills was .
established? TUHA WA I T T T

(@) Ahmedabad aar?

(b) Mumbai (a) 3EHCIETG
(c) Rohtak
(d) Kanpur (b) E
(c) Ugch

(¢) FTR
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52. With reference to the Governor, which of the 52. TSI % ged ¥ , Mefefaa & s ava

following statement(s) is/are correct?

1. India follows the Canadian Model for the
election of Governor.

2. A person to be appointed as Governor
should have completed the age of 25
years.

Select the correct answer from the codes
given below.
Codes:

(@) 1 Only

(b) 2 Only

(c) Both1and2

(d) Neither 1 nor 2

53. Which of the following statements about

Fundamental Rights is/are correct?

1. These are meant for promoting the idea of
political democracy.

2. During the operation of a National
Emergency, all Fundamental Rights can
be suspended.

Select the correct answer from the codes given
below:

Codes:

(@) 1 Only

(b) 2 Only

(c) Both1and?2

(d) Neither 1 nor 2

54. The winner of the women’s single title at the

French Open Tennis Tournament, 2021,
Barbora Krejcikova is from which of the
following countries?

(a) Czech Republic

(b) Serbia

(c) Croatia

(d) Spain

. Which of the following has been selected by
NASA to build the first cellular network on the
Moon?

(&) Motorola
(b) Samsung
(c) Nokia
(d) Xiaomi

FIT T 8/a?

1. 9T § TSTITA & AT F [T FATST 6
HISH T ATELIT FIAT 2l

2. VST ok ®T § FHI<H g1 ATl =F=E AT
25 Y T A I FIAT AU

= faw T w2t | "L¥ 3L A FAA

o

FE:

(a) 1 FaT

(b) e 2

(c) =T 1 3T 2

(d) AT 1 e TE 2

53. T AT % Traeey # fAwforfed & & w9
TqT/F FAT Bl 8/e?
1. I TSI AR % =T &7 gerEr o
FT 32T TEA ¢ |
. TSI ATITARTA & Tade & arera |, qdt
Hifersr srfaramed =t Aefag B s
AT 2
= faw 10 et § & F5f 39 AT =747
o
EOECH
(a) 1%Fae
(b) FAT 2
(c) =TT 1302
(d) TAT1ATTEN2
54. e 39eT i gotde , 2021 T Afgel
Uehel TS &1 faaldr, SRERT shoffehiar
farafaf@a & & Fa g a &
(@) T IVRST
ORIER
(c) shruferar
(d) =T

. FEHT I TgAT HAAL " a1 & [or7 AT
g Fefera & & o =7 3T 82

(a) AT

(b) ¥

(c) wrferaT

(d) st
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57.

56. With reference to Political Parties in India,
consider the following statements:
1. India has the largest number of political

parties in the world.
The election commission specifies ‘free
symbols’ which are meant for recognized
parties and ‘reserved symbols’ which are
meant for registered-unrecognized party.
A party is recognized as a national party,
if it is recognized as a state party in two
states.

Which of the statements given above is/are

correct?

(@) 1and 2 only

(b) 2 and 3 only

(c) 3only

(d) 1only

‘Statue of Peace’ is situated in which State of
India?

(a) Madhya Pradesh

(b) Rajasthan

(c) Gujarat

(d) Himachal Pradesh

. Which one among the following committees/

commissions was set up to  make
recommendations about Fundamental Duties?

(a) Punchhi Commission

(b) K. Santhanam Committee

(c) Sarkaria Commission

(d) Swaran Singh Committee

. The audit reports by the Comptroller and Auditor

General of India (CAG) are submitted to the
(a) Parliament

(b) President

(c) Prime Minister

(d) None of the above

PM VANI Yojana is related with

(a) Censorship of Print and Digital Media
(b) Development of Lok Sangeet

(c) Audio-Visual Release of Lok Sabha
(d) Awvailability of Wi-fi in public places

56. IR & JSTeilicdeh Goll & TGH H
fAfaf@a Fuar w TR e
HRd H faeg A v 31f¥s qoefas
&l gl
AT IART  FFd gl ' dUT IR
faegr & fafafcse aar & g
HTAYTI A AIAICT STell g
dolishd I - AT ol A g
Ueh Ul & TST 91ef & & & AT
&Y ST &, 39X a8 &l B 2 Ut H
T T ¢l & ®T H AIAT 9ed &r
|
R foU a0 FUAT H F HiF-T/A Fer
g/e?

(a) Fadl 1 3R 2
(b) Faer 2 3T 3
(c) shae 3
(d) shaer 1

| (R 3w fray Ay R sRA & R
7T # afeud &2
(@) #ET ggar
(b) T
(c) I
(d) feaATger weor

. Hifor Al & 912 ¥ el 4 & oo
rforfea o & R afafa/smanT it emaEr
#T T ofF?

(a) T A
(b) . FoTH qATT
() TTAHTILAT T

(d) vl &g @t

59. 9TEq - gTeraTai e (
F@TIEAT R &7 Joqa 6T STt &
(a) =¥
(b) Trgafa
OREIEEE
(d) SRR | | AIE T

CAG) zTT

60. TSI Aol ATl T GFaesT g
(a) Fic R Bfoca Afsar fr daAa
(b) e @ &1 A=
(C) wlrengsm &1 3iifsAr-fasiarer Refer
(d) ardaTfeis ¥ W aE-Br$ & 3ucTstdr
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61. The Union List consists of 61. wa T 7 enfAer §
(a) 97 subjects (a) 97 fowx
(b) 61 subjects (b) 61 fw=
(c) 47 subjects (€) 47 fawx
(d) 73 subjects (d) 73 fr

. An Interpretation of the Constitution of India T & IS Fr grEdr [Py grger

is based on the spirit of
(a) Fundamental Duties W TR 87

(b) Fundamental Rights () HifF FaT

(c) Preamble (b) Hifow HRFR
(d) Federal System
ORESIEGL

(d) I goTrelT

. The constituent Assembly was set according . giaYreT OHT FT 5T & JEIET & TR
)

to the proposals of
(a) The Cripps Mission foram arr ar

(b) The Cabinet Mission (a) Topewr fovereT
(c) Mountbatten Plan (b) Here B

(d) Rajagopalachari Plan () FTE
(d) TSI Jrotell
. The Fundamental Duties in the Constitution 9T & geue & #3ifas sacar #r

of India were adopted from

(@) Canadian Constitution LRI s m

(a) FaTST & FiawmeT
Ameri Constituti ) Fﬁjﬁ ﬁ' o

(c) American Constitution © .
(d) French Constitution (d) eIl wfenT

(b) Russian Constitution

. The Nobel Peace Prize, 2020 was awarded to . Aee 9ifa AR, 2020 AeATa@d & &
pe)

which of the following organisations? . £ ~
(@) World Food Programme FPH e I Qi

(b) United Nations Development Programme () fava @Weg FEHA
(c) World Health Organisation (b) TgeFa Isg e e

(d) World Bank (c) faea Tareew HarasT
(d) faea &=

. The Public Account Committee of Indian . IRAT gue i e or@r gfafa adver &dr
Parliament scrutinizes the &

(@) Report of the Comptroller and Auditor i

General (a) fa=® g Agrer@r Weld & gfaded
(b) Consolidated Fund of India $r

(c) Public Account of India (b) RT & TRT A &

d) Contingency Fund of India

(@) geney (©) FRE ¥ A @ o

(d) 9IRA &7 3ThiTHRAr Afr &r
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67. Which of the following Bills can NOT be first

introduced in Rajya Sabha?

(@) Ordinary Bill

(b) Constitutional Amendment Bill
(c) State Re-organisation Bill

(d) Money Bill

. Which writ give the meaning ° we command’
in letters
(a) Habeas Corpus
(b) Prohibition
(c) Quo Warranto
(d) Mandamus

. Which of the following is not included in the
Fundamental Rights in the Constitution of
India?

(@) Right to adequate means of livelihood
(b) Right to Freedom

(c) Right against Exploitation

(d) Right to Equality

. The Directive Principle of State Policy have
been adopted from
(@) US Constitution
(b) Irish Constitution
(c) French Constitution
(d) Canadian Constitution

. According to ‘Global Peace Index, 2021°,
which of the following is the most peaceful
region in the world?

(a) Africa

(b) Europe

(c) Australia

(d) South America

. In which year P.C. Hota Committee on Civil
Services Reforms was constituted?
(@) 2003
(b) 2004
(c) 2005
(d) 2006

67. faf@a & @ *ia-ar s TogTeT &
JUA SR GEATGd 1l fohar ST TeheT 82
(a) GTUROT fAgTs
(b) TfaemeT GemeT fataes
(c) T Yool Tt
CORGERCEEED

68. HiT TY R 316RT & §F 3TAT &7 31T
Sl g
OEARHIETUS
(b) forver
(c) &g arer
(d) HeTeH

. rfef@a § @ #i9 aRa & R 7§ AiE
FRFRT F anfie A &

(@) SN & gicd AT F PR

(b) T&AFAT T HUFR

(c) V0T & Wemh JSPR

(d) FHATAAT &7 ATRR

. UST & Alfd e ded &1 Far &
YT 9T 872

(a) ARG Ffaem

(b) 3maRer Afaem

(c) wrErET Efgere

(d) SHeATST T HiTeT

. Telierel 41 g3, 2021' & 374R,
fArafafad & @ gfaar #1 aeq
QM Ye &7 il &AT &7

(a) 3TshrepT

(b) I

(c) 3iteeforar

(d) T3 3ARPT

. fofae qamsit & gur &g @@ gler afAfa
FT 67 frg av¥ fFar am=r ar?

(a) 2003

(b) 2004

(c) 2005

(d) 2006
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73. The Constitution of India is
(@) Rigid
(b) Flexible
(c) Combination of rigidity and flexibility
(d) Neither rigid nor flexible

. Right to freedom is guaranteed in which
article
(@) 17
(b) 19
(c) 18
(d) 25

. Directive Principles of State Policy is
(@) Justifiable
(b) Non-justifiable
(c) Mandatory
(d) None of these

. A non-renewable source of energy is
(@) Solar energy
(b) Petroleum
(c) Wind energy
(d) Biogas

. Which of the following Constitution
Amendment Acts made necessary provisions
for the implementation of GST regime?

(a) 101* Amendment Act
(b) 102" Amendment Act
(c) 103" Amendment Act
(d) 104™ Amendment Act

. Right to property was removed from
Fundamental Rights by which amendment
(a) 29"

(b) 25"
(c) 44"
(d) 42"

73. ARG &1 gfau &

(a) FOR
OIGEIEH

(c) FORAT AR oiTelusT T TSl

(d) o dF FeR IR o & erfrer

. FIATAT F WS f AR e 7o

H QY aIg §?
(@ 17
(b) 19
(c) 18
(d) 25

. U5 & sAifg e aa &

(a) =T

(b) R-=arEera
(c) 3farr

(d) g1t & I A&

. TF IS 39T AT §

(a) Gk 3=
(b) 9eiferTs
(c) arg 3sit
(d) s

. Afefaa 7 @ g gfous gy

ftfaTs o Shuadr Faar & FReasT
& foT 3aegs UaY I &2

(a) 1017 FeNeer RFTH

(b) 102 ¥ @ever rfafags

(c) 1037 @ever rfafags

(d) 104 ¥ gever fafaTs

. gufea & 3R 1 #Aifce 330eRt O

geT fear s s gany deius R

9T

(a) 29"
(b) 25"
(c) 44"
(d) 42
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79. The power of the Supreme Court of India to
decide disputes between the central and the
states fall under its
(@) Advisory jurisdiction
(b) Appellate jurisdiction
(c) Original jurisdiction
(d) Constitution jurisdiction

. The procedure for amending the Constitution
of India is
(a) Rigid
(b) Flexible
(c) partly rigid and flexible
(d) None of these

. Which region receives rainfall in winter?
(a) Kerala coast
(b) Bombay coast
(c) Andhra coast
(d) Tamilnadu Coast

. Give the number of Union Territories in India
(8 5
(b) 6
(c) 7
(d) 8
. Name the largest river in South India
(a) Godavari
(b) Krishna
(c) Cauvery
(d) Mahanadi
. The northern — most ranges of the Himalayas are
known as
(a) Siwaliks
(b) Himachal
(c) Himadri
(d) Pir Panjal

. The western ghats are also known as
(a) Maikal range
(b) Satpura range
(c) Vindhya range
(d) Sahyadri range

. Arrange the following events amidst first
anglo-Maratha was chronologically.
1. Treaty of Salbai
2. Treaty of Surat
3. Treaty of Purandar
4. Battle of Telgaon

Code
(a) 3-2-4-1
(b) 2-3-4-1
(c) 2-4-3-1
(d) 2-1-3-4

79. g 3R AT F &g fGarer #1 haer e & for
URd & gafed ~IrTed $I AfFd 50% dTd 3T
e
(a) HeghIT &SRR
(b) 3o erfasR
(c) H SR &
(d) Ffaur &R

80. RA & TAUT & TeAerT T Ifshar §
(8) FBR
(b) e
(c) 3fAFH ¥ & FoR 3R ofrem
(d) =78 & @IS e
81. \fAt ¥ foFe &= ® o’ grdt 872
(a) FTA A<
(b) =i a2
(c) g a<
(d) TfHerTE T
82. 9TLA ¥ g oTiora Taort it dwear o
@ 5
(b) 6
(c) 7
(d) 8
83. ferur AT T T T TLT AT ATH TAT0
(a) TrETE

(b) Feom
(c) Fradr
(d) wer=T
84. I - feATaT i srfersier TAqHTAT & & H AT
ST &
OREEUEED
(b) R
(c) fewmst
OREEEIE
85. UfHrHT °Te % &4 # ff STATSATAT
(a) =TT gEeT
(b) AAL=T ST
(c) faex g
OEEIHECED
86. gger JHITT-FRTST FHlelshH & AR fA=TTe e
AT Fl cgafeyd #|
. groes $r @
. A HT |
. TR A E
. Qg Fr T3S
EAES
(@) 3-2-4-1
(b) 2-3-4-1
(c) 2-4-3-1
(d) 2-1-3-4
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87. Which of the following battles took place 87. faerfafea # @ sla-a1 g ane gReow & aag

during the time of Warren Hastings.

1. Third Anglo-Mysore war

2. First Anglo-Maratha war

3. Second Anglo-Maratha war
Code

(@) Only 2

(b) 1and 3

(c) 2and 3

(d1,2and 3

. Which of the following is not correctly

matched?

(a) Dalhousie — Suppression of Thugee

(b) Lord Hastings- Suppression of Pindaris

(c) William Bentick-Establishment of separate
Sadar Diwani and Sadar Nizamat Courts
in Allahabad

(d) Ellen Barough — Victory of Sindh

89. Match List — I with List — Il and choose the

correct answer using the code.
List —I List —I1
A. Lord Bentick 1. Partition of Bengal
B. Lord 2. Local Self
Cornwallis government.
Lord Ripon 3. Abolition of Sati
system
. Father of Civil
Services

C.
D. Lord Curzon

Code :

A B
(@3 4
(b) 3 2
(c) 2 1
(d) 4 3

90. Match the following —

Index —I1
(Related Region)

Index —I

(Maratha Union)
. Peshwa Nagpur
. Gaekwad 2. Gwalior
. Scindia 3. Baroda
. Bhonsle 4. Puna

H g3m aml
1 TR IPA-A g
2. YA ATA-FIST Ig

3. G HTA-FIST g
FIg

(@) ¥aer 2

(b) 1 3k 3

(c) 2 3% 3

(d) 1,2 3t 3

gs. Mwferiad & & %I dgf gl A5l 82

(a) SAGISIT - ST T THT

(b) S giEeva- foeTiat &1 a9

(c) Taferaw dfew-zamgrars & st #e
AT AT Fa¥ Aoy =Ty fi
TATIAT

(d) Tere a2 - e it oo

89. -1 &I -1 & FAfId RS AR FHe &t

TANT X FE ek IfAT|
- -1l
A. s dfes 1. §aTTeT T TaHTSTeT
B. dl$ eidrford 2. TUEAT TaRATH|
C.drs Ruat 3. |ell 9T & 3eHelel
D. AT Foiel 4. fOfae Gar & Sl

Is:

A

(@3

(b) 3

(c) 2

(d) 4

90. frwferfea =t gafera ffsu-
-l

(FrTaT 5= )

EENRETIE
C fafaar
D. \iae

FIE;
A
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91.

Where do longitudinal transverse and surface
waves occur in an earthquake?

(a) Focal point on the surface of the earth

(b) Focal point within the earth

(c) At the epicenter within the earth

(d) At the epicenter on the surface of the earth

. The correct chronology of mountain building

Is-

(@) Harcynian, Caledonian, Archean, Alpine
(b) Hercynian, Archean, Alpine, Caledonian
(c) Archean, Hercynian, Caledonian, Alpine
(d) Archean, Caledonian, Hercynian, Alpine

. Which of the following statements is incorrect

with respect to tropical cyclones?

(@) Tropical cyclones turn from east to west
due to lack of trade winds.

(b) Tropical cyclones are not a catastrophic
threat to the tropical region.

(c) Tropical cyclones are originated near the
ITCZ.

(d) Tropical cyclones begin to weaken upon
passing through the land area

. The highest Albido is on-

(@) the snow-covered surface
(b) The sand

(c) The grasses

(d) The dry surface

. Which lake has the highest salinity?

(@) Van Lake

(b) Lake Victoria
(c) Balkhas Lake
(d) Titicaca Lake

. “Each day is more or less than usual, with

clear sea mornings and bright sea. As the sun
rises higher in the sky, the heats increases,
dark clouds are formed, then lightning strikes
with rain. But the rain ends quickly.”

(a) Mediterranean

(b) Equatorial

(c) Savannah

(d) Monsoon

91, [T H SIqaed STIIeT olI¥ ddal aid Fal gl &7
(a) 9T & @A 9T H fdg
(b) 9T F T wrEwa &g
(c) Tt F ¥ IufEhs 7
(d) =t it Fag T 3uEs 1

92. WA [HTOT T LT HTAHH -
(a) efEfae, Fataae, e, searsa
(b) BfHfm, srfae, sedrea, FeereaT
(c) e, g, Fa=ifae, seurea
(d) s, Ferrage, geifaae, sourea
93. ISt JewaTdl & day ¥ Feforfea & 7
GIERE R E
(a) AT FaATSAT 6T FHT F HTLIT ISTH{ca e
FewATd IF F T AT AT 2T B
(b) IUTHTEaE T TwATA SR & F forw
e fAATeRTEY FaT Aal 2l
(c) SeurHfead T =haTa ITCZ % 9TH 39 2id &l
(d) ST FHaTd A &5 F [ T
FHASY Z1 AT Bl
94. IgAW UleaEl B-
(@) T & ThT Tdqg
(b) ¥
(c) =mo
(d) <~ &qg
95. e =fier T Favrar Fae sTfa g2
(a) aT ==
(REEERIEIE
(c) =eram Hi=
(d) fefewrT =fer

96. “g¥ T ATHTT & ¥ AT SATAT BIaT &, AT
THE TAE 3T I=a THF o AT STEH-STF qIoT
AEHATT § FHUL 33T &, THT gl g, FTeT aTaa
I 3, T aTier & |y fosteft Rt g1 e
TS STeat @ gl STt 21"

(a) THLTATTET
(b) HLAET
(c) HATATE

(d) AT
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97. W.ith reference to the Delimitation Act, 2002,

which of the following statements is/are correct?

1. Article 82 and 170 of the Constitution of
India provide for readjustment and the
division of each State into territorial
constituencies on the basis of the 1971
census.

Article 330 and 332 of the Constitution of
India provide for re-fixing the number of
seats reserved for the Scheduled Castes and
Scheduled Tribes in the House of the people
and Legislative Assemblies of the State on
the basis of the 2001 census.

Select the correct answer using the code
given below:

@) 1only

(b) 2 only
(c) Both1and?2
(d) Neither 1 nor 2

98. Which of the following statements is not correct

about the Finance Commission?
() Itisa quasi-judicial body.
(b) Article 280 of the Constitution of India
provides for a Finance Commission.
(c) It consists of a chairman and four other
members to be appointed by the President.
(d) They are not eligible for reappointment

. Which of the following languages have
classical language status?
1. Sanskrit
2. Odia
3. Tamil
Select the correct answer using the code given
below:
(@) 1and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d1,2and 3

97. ufvHm" wfgFaw | 2002 FH@e

et & & w0 qu/& Foa w8t 8/82
1. AT % AT & A=sa 82 3 170 H

1971 FT STRTUTAT ST 9T T 7 6
g A= &l | AT i
[ECIECEIRIERIG ]

AT & HaemT & ad=es 330 3fi¥ 332 §
2001 ¥ STHITUMET & ST 9 ST F AN
ST fArgmaaTe % 9t § aged
ST 3 ST SISt & fore
areterg @et i g #r e ¥ Faifa
LA T ITTL Bl

= faT 70 e T THT F ARl I

LRk
(@) FaeT 1
(b) FaeT 2
(c) =T 1 3T 2
(d) TaT 13T TS 2
98. fa s F A § fReferfed & & i a1 e
RN
(a) TE UF FAT-ATHAF AT 2
(b) AT F HiLTT % Aq=es 280 H UF &<
ST T TTALT 2
(C) THH T 72T AT AL AT AT gId g
e Trgafa g Rgs T smar =)
(d) 7 fARE & forg orr 72 2
99. Tawrferfera & & forer o v ermsfiar o v
TSI 9T 82

1. HERd
2. 3fgam
3. e

= {2 10 e &7 YA F AL 3L M
(a) FaeT 130T 2
(b) FET 2 3T 3
(c) FaT 130T 3
(d) 1,2 3T 3
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100 Arrange the following preventive detention
laws in a chronological order and select the
correct answer from the codes given below:
I. Prevention of Illicit Traffic in Narcotic
Drugs and Psychotropic Substances Act

Il. Conservation of Foreign Exchange and
Prevention of Smuggling Activities Act

I11. Unlawful Activities (Prevention) Act

IV. National Security Act
Codes:

(@) 11,1V, 111, |

(b) IV, 11, 1, 11

() 1, 1,1V, 1

(d) 11,1V,

101 Sun emits energy in the form of electromagnetic
radiation. The following help in the generation of
solar energy. Arrange them in the right sequence
beginning from the starting of the cycle:

1. Hydrogen is converted to helium at very
high temperatures and pressures.
2. The energy finds its way to sun’s surface.
3. A vast quantity of energy is generated by
nuclear fusion.
Select the correct answer using the codes given
below:
(a) 1-2-3
(b) 2-3-1
(c) 3-2-1
(d) 1-3-2

102 A particle is moving freely. Then its

(a) Kinetic energy is always greater than zero

(b) potential energy is greater than zero and
kinetic energy is less than zero

(c) Potential energy is less than zero and kinetic
energy is greater than zero

(d) potential energy is zero and Kinetic energy is
less than zero

103 Gravitational force shares a common feature with
electromagnetic force. In both cases, the force is
(a) between massive and neutral objects
(b) between charged objects
(c) ashort range
(d) a long range

100. fAF=Tfaf@d fAaRe Aer FrefeAl FI FellfhiAs
FH # cyafeyd &Y iR T e 7w e & @@
3l &l T

. facel T T ERetor v e fAaror
CIBIGRE

NI, el afafaftrn Q) sfRfaas

V. Isdr greT e
Fis:

@ H, v, i, 1

(b) IV, 1L, 1, 11

() I, 11V, I

() 1, 1, v, o

101. GF faegd graehra fafesor & &7 & Foft &1
3chod A gl Aeafaf@a @k s & 3caea &
Hee I &1 Tsh I YA ¥ 3o¢ Hel A A
AT
1. §gd 3T9 A9A 3R &9 T EISFIST Elieras
# gRafda gr Sar gl
FAT GF H T T IIAT TEAT @it ol g
AR FoTT T A AT H Foll 3cTeed
gleir g1

A fGT T et HT GAT I e Seek Gieaw:

@) 1-2-3

(b) 2-3-1

(c) 3-2-1

(d) 1-3-2

102,75 7 TqS =9 § 7 72T gl 6T saehr

(a) ITTCIST ZooTT ZHAT T F ATF BIAT &

(b) FRafast ert o= & srfar § sfiw wfast =it
T T FAE

(c) TRurfasT STt o7 & FH ¢ 3T TSt o1 -
q srfes g

(d) TRerfasT STt 97 & i< ITTaST SoolT 7T &
d

103 IFATHYT o1 Tl SFrehii T & | Th
ATHT FAATAT ATAT F2AT 1 I B ATHAT §
ERK
(a) & THTT UT T T TEGAT & d19
(b) STTereT AFGEAT & A=
(c) U Frer oF HET
(d) TF =TT
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104 A beautiful rainbow on the sky is due to the 104, 3TRTET I Ha¥ Trarel™ ek 10T 2raT 82

(a) dispersion of sunlight from a water droplet only

(b) reflection of sunlight from a water droplet only

(c) reflection and refraction of sunlight from a
water droplet only

(d) refraction dispersion and reflection of sunlight
from a water droplet

105 The weight of an object may be assigned by using

Newton’s

(a) first law of motion
(b) second law of motion
(c) third law of motion

(d) law of gravitation

106. A current 0.5 A is drawn by a filament of an

electric bulb for 20 minutes. The amount of
electric charge that flows through the circuit is

(@ 1C

(b) 10C

(c) 600C

(d) 300C

107 Power required by a boy of mass 30 kg to run up a

staircase of 40 steps in 10 seconds is (height of
each step is 15 cm) (Take g = 10 m/s?)

(a) 1800 Watt
(b) 180 Watt
(c) 18000 Watt
(d) 18 Watt

(a) A ITHT T IF | TF F TR AT ot
fararoor

(b) e ATHT =T I | FF & THTT AT I

(c) e T =T & | TF F THTI FT T
EILCRERL

(d)aret ¥ g7 & s vt e s 97
EEICIEAREIELL

105.7g¢el & AT @ fhdl a&q T #R
fauia forar S Fear &
OEIGEIREIRGRE
(b) a1y T GEA frIA
(c) I T T fAgs
(d) Icarshyor H1 foge

106. T fdegd ded & dd earT 20 fAee
& faU arT 0.5 A €=l S 81 aRuy @

vaTie glel arel faege 3maer T AT §
@ 1C

(b) 10C

(c) 600 C

(d) 300C

107. 30 R ISTeT & Teh eISh hl 40
Mfear 10 s & W T & v
ety erferd i 3TaeTehdr gl § (I Ah
WO Fars B5IME) ( g =

Hi/aeus)

(a) 1800 Watt
(b) 180 Watt
(c) 18000 Watt
(d) 18 Watt
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108 The plot given below represents displacement ‘x’ 108. Y AT IR ol HT t'F 1T TH
of a particle with time ‘t’. The particle is

5 FUT & TATATTA ' HI ST &1 FHoT &

t

(a) moving with uniform velocity
(b) moving with acceleration (a) UHEHATT a7 & HIY T T &

(c) moving with deceleration (b) TaROT & HIY 31T 96 I@T ¢
(d) executing a periodic motion (c) FY & T 3 9E @ &
(d) T 3Matee Iifa Fsaifea e
109 Rays of light get refracted while passing from air 109.94p7eT T ROt ag § &g & 3N Id 95T
to glass because qafta iy
(a) density of glass is higher than that of air . & STl § .
(a) T & Gelcd gaT T Jolell # IS &

_ (b) & FT H TdE ¥ Wiafdd &T & Tl
(c) glass absorbs energy from the light rays ¥

(d) speed of light in glass is less than the speed of (C) FT et U F Foir @ gRa
light in air AT &

(d) /T & eprer &r Ifa gar & Yehrer Fr At
qHA G

110 A refracting telescope consists of 110. T JUdasF EB‘CX‘\’ﬁ Faad
(a) one concave mirror and one convex lens .
(a) T 3adel guur 3T T& Icdel o
(b) FHA B I & & Seddl I
o | f | focal lenath (c) Rffiee  Pleher g & ar 3rade guor
wo convex lenses of unequal focal lengths .
@ q g (d) 3 EAT Biehel G & al 3cddl o g

(b) they cannot be reflected from a glass surface.

(b) two convex lenses of equal focal length

(c) two concave mirrors of different local lengths

111 The nucleus of a singly ionized carbon atom 111. Uhd HIRT Feed GTHT F ATTHE
contains ¥

(a) 6 protons and 6 neutrons H @ g
(b) 5 protons and 6 neutrons (@) 6 SerT 3R 6 =gl

(c) 6 protons, 6 neutrons and 6 electrons - ~
(d) 12 protons, 6 neutrons and 6 electrons (b) 5 3 6 ecTed
(c) 6 Wield, 6 &gl 3R 6 Saciel
(d) 12 Wrere, 6 =ggiel 3R 6 Sl
112 The main power supply in India is at 200 V, 112. ARG & ACT oo 3mafd 200 V 9T
) a
whereas that in the US is at 110 V. Which one g S 3ANET & 110 V W &1 59
among the following statements in this regard is oy & fafaf@a & O 9 @ 34
correct? T g2
(a) 110 V is safer but more expensive to maintain (@) 110 & gRi&d ¢ Afhet &=l @ & AT

(b) 110 V is safer and cheaper to maintain 3o #gam &

(c) 110V leads to lower power loss (b) 110 & FaTT Y@ & forw FIET 3N
FEAT &

(c) 110 & & fasTel gIfey I 3R ST &

(d) 110 & 3= 37a7iet 9T g FH HIAT §

(d) 110 V works better at higher latitudes
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113 The Earth’s surface receives maximum energy at 113. SUgT 12 S y2ar $T gdg &
C

12 noon. State which of the following reasons are 3RFaH Fo urcg g ¥ a7 &F

correct. PrfafRd # ¥ P § FRor T

1. Transformation of solar energy into heat 1. R FaT &I F5AT & dcoad & TS
requires some time. AT T Bl
The loss of energy through long-wave , ccr'%?r $r gag I dd-aer Jfeen &
radiations from the Earth’s surface exceeds AETA A Foll &l oh e B:éi' T AH
the energy received from the Sun at 4:00 4:00 S 9o FoT ¥ 3
p.m. . @R fafeolt & gt &t uied Fer
Energy received by the Earth from solar gy &I T ¥ A 4:00 S b
radiations continues to exceed the energy STEY S arell Sfelt-a’ar fafeor ganr
lost by outgoing long-wave radiations from g 9 Fot A S gl Tl &
the Earth’s surface up to 4:00 pm. A fCU T el HT T F T

Select the correct answer using the codes 3l aoi?w:

given below: Hs:
code: (a) haer 1 AR 2

(a) 1and 2 only (b) haer 2 3R 3
(b) 2 and 3 only (c) hael 1 3R 3
(d) 1,23k 3

(c) 1and 3 only
(d) 1,2and 3

114 'tl)'he penetrating power of X-rays can be increased 114, X-fFo ¥ AT e7Har r Fay
y
(a) increasing the current in the filament. CaRT ST ST Fhell &2

(b) dﬁcrea;ing th%l Eotentigl difference between (a) Rremde & fegd 9rT SerET|
the cathode and the anode 2 . .
(c) decreasing the current in the filament (b) TS 3R TAIS & ST HHAMIT e

(d) increasing the potential difference between the F FH FHLAT

cathode and the anode (c) Rpemde & ﬁag;[ &IRT T
(d) FAE IR TEIE & dg Fgarfad AR
dclal

115 When a solid object is immersed in water, there is 115. 319 T 319 &g & gy & =9
a loss in its weight. This loss is Y -

(a) equal to the weight of the water displaced ST &, @ 38 7R A AT 0 & Tg

(b) less than the weight of the water displaced FAT T

(c) greater than the weight of the water displaced
(d) not related to the weight of the water displaced (a) Ty orelr & Tt & SR

(b) RATAT gy & gofel F HH

(c) TaTfa gy & gt & s

(d) TG 9=l & ToteT ¥ FafT g
J
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116 Body A of mass 2 kg and another body B of mass 116. 2kg geTATT &1 WS A 3 4kg geaaAT=T

4 kg and of same material are kept in the same

sunshine for some interval of time. If the rise in

temperature is equal for both the bodies, then

which one among the following in this regard is

correct?

(a) Heat absorbed by B is double because its mass
is double

(b) Heat absorbed by A is double because its mass
is half

(c) Heat absorbed by both A and B is equal
because the quantity of heat absorbed does not
depend upon mass

(d) Heat absorbed by B is four times than the heat
absorbed by A because the quantity of heat
absorbed is proportional to square of the mass

. Consider the following statements:

Hypermetropia is a defect of vision in which
a person cannot see the distant objects clearly
a person cannot see the near objects clearly
the near point of the eye gets shifted away
from the normal position
the far point of the eye gets shifted towards the
eye
Which of the statements given above are
correct?

(@) 1and 3

(b) 2and 4

(c) 1and 4

(d) 2and 3

118 1 gm of ice at 0°C is mixed with 1 gm of steam at

100°C. After thermal equilibrium, the temperature
of the mixture is

(@) 0°C

(b) 50°C

(c) 80°C

(d) 100°C

& @ U3 B 3R @& @l @
TT AT F AR & AT vh & gu
F @r orar g1 afy gt Rist &
oA A gig @A g, o 59 d9y |
fPfaf@a & @ a9 @ & @
(a) B E@RT 3@N™T  FoAT Q[ &
Fifeh SR GeATT SIfAT §
(b) A carT 3ERMBT  FeAT SN &
ik SHHRI GeTATA 3T ¢
(c) A 3R B gl ganrT HaM®»T  FsAT
WX § Fifeh 3a™T FSAT &T
AT gegdA W AR A8 i &
(d) B EaRT 3afsa FSAT A ¢RI
AT AT § IR AT § Fifh
3TN ITHT H AT gTATT & qor
& FAEIC BT &

117. farafof@d sy« @ Tar a3
T e aw i & & aw § s
1. Uk oAfFd g7 T a&J3iT A T &9

q A6 5T Tl &

2. U fFd e & a&gt aF Tose
T U 8T 4O Hhdl ©

3. 3@ & e &g @y fufa &
g¢ ST &

4. 3ig @1 ¥ fog 3@ & AR Eas
ST &
FIW U T Fyar F A HlA-8 FEr
&

@@ 1 3R 3

(b) 13K 4

© 1 3R 4

@ 2 3R 3

118. 0°CU9X 1 IMH &% T 100°C U 1 ITH
AT & Gy AT Jar g FSE

HcJoleT & dTe; [AAOT T aTaHTeT gl &
(@) 0°C

(b) 50°C
(c) 80°C
(d) 100°C
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119 A bullet travelling horizontally hits a block kept at

rest on a horizontal surface and gets embedded
into it, the two together then move with a uniform
velocity. Which one of the following conservation
laws holds?

(a) Conservation of angular momentum

(b) Conservation of Kinetic energy

(c) Conservation of linear momentum

(d) Conservation of velocity

120 Consider the following statement. Sound waves

can undergo
1. reflection

2. refraction
3. interference
(@) 1and 2 only
(b) 2 and 3 only
(c) 1and 3only
(d) 1,2and 3

121 A cylinder of mass m and radius R floats

vertically in liquid of density d. What is the height
of the submerged region?

m

(a) mR2d

122 A house, served by a 220 V supply line, protected

by a 9A fuse. What is the maximum number of 60
Watt bulbs that can be turned on in parallel?

(@) 11

(b) 22

(c) 33

(d) 44

123 When a mass m is hung on a spring, the spring

stretched by 6cm. If the loaded spring is pulled
downward a little and released, then the period of
vibration of the system will be

(a) 0.27s

(b) 0.355s

(c) 0.49s

(d) 0.64s

119. &faST §T & IMET FLeA dTell Teh el
T 8ifdeT Idg W 3RH & W T
slleh & T § 3R 39H o971 ST
£ el U ATy U AT 39T ¥ A
N & Feafaf@d & @ sia-ar
(@) IofT HaeT ST FIETOT
OEGEES )

(c) Y@ TAI HT TIETT
(d) 97 T TREToT

120. P=fof@a Fa9 w TR H| eafa Ja@r
TR FHr &

1. wadd

2. 39dde

3. =gfaeor

(@) g 13k 2

(b) &aer 2 3R 3

(c) saer 1 3k 3

(d) 1,23R 3

121. gegdATT m 3R B3SAT R &°T T dSoeT d
gelcd dTof gd H ogdd oRdT &l
ST & FI FAs TRy g7
(a)n;nzd

(b) _m_

nR%d

© 725
(@ 3

122. T BX, Ush 220 V 39S oeT ganT
fear ST g St 9A WS g@rr
WfaTd g1 FAER 7 <o fhu o
Hehol dTel 60 ATC & Sodl I ATAHIH
T&AT AT §?
(@ 11
(b) 22

(c) 33
(d) 44

123. ST Teh gegAT m HI YT W eTcahr
fear Srar &, ar BT 6cm d& @@=
ST g1 Ife AR FESer &r gier &
$r 3T daa oI J1ar g, aF [
% HYeT HI G gefr
(a) 0.27s
(b) 0.35s

(c) 0.49s
(d) 0.64s
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124 Kinetic viscosity of a given liquid is the ratio of
(a) the coefficient of viscosity to the density
(b) the coefficient of viscosity to the surface
tension
(c) The density to the coefficient of viscosity
(d) the surface tension to the coefficient of
viscosity

125. lodine value is related to
(a) Fats and oils
(b) Alcohols
(c) Esters
(d) Hydrocarbons

126. The drugs used to get relief from pain are
called
(@) Antipyretics
(b) Analgesics
(c) Antibiotics
(d) Antiseptics

127. Carboxylic acid group can be detected by
(@) Sodium bisulphate test
(b) Fehling’s solution test
(c) Tollen’s reagent
(d) NaHCO;

128. In cold countries, ethylene glycol is added to
water in the radiators of the cars during winter
to
(@) Lower the freezing point of the water
(b) Reduce the viscosity of the water
(c) Reduce the specific heat of the water
(d) Increase the conductivity of the water

129. Coinage alloy has the following composition.
(@ Ag+Cu+Ni
(b) Cu+Ag+Au
(c) Au+Zn+Ag
(d) Ag+Fe+Cu

124, frEY feT 10 aRer & AT 2ATeIar

T U &

(a) Belca & foIT ITTAT I 0TI

(b) Tdg oo d & forw QYT ST
[T

(C) RITAT & UM I Helcd

(d) IAAT & IUTh & fAT HAE
ddid

125.31081 A TEfRT §
(@) Tar 3Rk dor
(b) 3rerEer
(c) WX

(d) sz

126.5¢ ¥ Ted Ul & T SEAATS &I STl areir
EaT3il &t gl AT &
(a) Sotemeren
(b) e&amers
(c) whemifew garsit
(d) JeToRYEreRt
127. FrstiFsifern Tl deg &1 g e S
Tl &
(a) Af3TA SrzHE®he IAETOT
(b) hfefer &1 AT gdaTor
(c) efereT 3HfAFHR
(d) NaHCOs

128.33 <ot #, @At & gRieT &RT & YBvewd
qrelt H el Tomsdiel fRemar Sar §
() TR & ReAis B P B
(b) Tt & RufuEe F7 it
(c) gr=ir r faferse 3@t &7 HE
(d) Gt Y TrerHaT T

129 faermr By g # fearfaf@a ww=er 8
(@ Ag+Cu+Ni
(b) Cu+ Ag +Au
(©) Au+2Zn+Ag
(d) Ag+Fe+Cu
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130. Which one of the following represents the 130.F=RRT & 9 9 sn;orgﬁ T SoTcieT

correct order of electron releasing tendency of
metals?

(@ Zn>Cu> Ag

(b) Ag>Cu>2Zn

(c) Cu>Zn>Ag

(d) Cu>Ag>2Zn

. Which one of the following is not a synthetic

detergent?

@) CH3(CH2)10CH2080§N&+

(b) [CH3(CH2)15—N—(CH3)3]+BF_

(©) CH3(CH2)15COO_N8.+

(d) CH3(CH,)16CO0O(CH,CH,0),-CH,
CH,0OH

. Which one of the following is an example of a
clean fuel?

(@) Coke

(b) Propane

(c) Petrol

(d) Wax

. Net movement of water from a dilute to a
concentrated solution through a selective
permeable membrane is called

(a) Diffusion

(b) Dispersion

(c) Osmosis

(d) Absorption

. Which one of the following statement is

correct?

(a) Both boiling and evaporation are surface
phenomena.

(b) Boiling is a surface phenomenon, but
evaporation is a bulk phenomenon.

(c) Both boiling and evaporation are bulk
phenomena.

(d) Boiling is a bulk phenomenon, but
evaporation is a surface phenomenon.

. A sample of ‘soft soap’ contains
(@) caesium

(b) potassium

(c) calcium

(d) magnesium

AF FA AT ygfed & T FA HT
gfafafca #ar 82
(@ Zn>Cu> Ag
(b) Ag>Cu>2Zn
(c) Cu>2zZn>Ag
(d) Cu>Ag>2Zn

131.fFfafEd # @ #id v HAfew fBesic
oTer 7
€) CH3(CH2)10CHQOSO§N8.+
(b) [CH3(CH2)15—N—(CH3)3]+BI'_
(c) CH3(CH2)16COO_N8.+
(d) CH5(CH2)16COO(CH,CH;0),-CH,
CH,OH

132.fAFfaf@a & & Fia vh TaTo suaT F
3ETET 82
(a) FIH
(b) o=t
(c) ugre
(d) ==

133. TTATcHS IRIFT Bleell & ATEIH & T 3
Aig e # S i g A FHend §
(a) 9O
(b) Sema
(c) 3itemfaw
(d) 3raenyor

134.ffaf@a # @ *la ar sy T@gr g2
(@) 39erd 3R arsdiawor gt adg Hr geAT
gl
(b) 3T Ueh HAEY ©SAT g, elfhed ATsHIehoT
Ts A T gl
(c) Fa¥=T 3R ar~usT gt & Toob IRECATT
gl
(d) 3STlAT Th Uk G § , elfched ATSUIRIOT
Teh Hgl g gl
135.7RHA AT o AHA H AAA &
(a) ofezH
(b) greRRTH
(c) Hfeerms
(d) FHeahfergs
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136. Which one of the following does not represent 136.AFf@T A T S 776, FioH FEfae

the salt, calcium carbonate?
(@) Lime water

(b) Limestone

(c) Chalk

(d) Marble

. Which one of the following substances is not
a mixture?

(@ Tin

(b) Sea water

(c) Sail

(d) Air

. Which one of the following solution will have
pH less than 7?

(a) NaOH

(b) KCI

(c) FeCls

(d) NaCl

. A sample of oxygen contains two isotopes of
oxygen with masses 16u and 18u respectively.
The proportion of these isotopes in the sample
is 3 : 1. What will be the average atomic mass
of oxygen in this sample?

(@ 17.5u

(b) 17u

(c) 16u

(d) 16.5u

. Thyroid gland produces a hormone called
‘thyroxine’ which

(@) controls blood glucose levels

(b) controls ovulation

(c) controls metabolic rate

(d) maintains pregnancy

. Mitochondria are able to produce their own
(@) nucleus

(b) proteins

(c) chloroplasts

(d) digestive enzymes

137.faFfaf@a & ¥ Fi9 a1 gerd Fsor 78 &2
() feaT

(b) THg HT AT

(c) faeET

(d) ag

138.fArfafea & & fd 9o et &1 pH7 & &A

139.3iferElTel & U FAofet H Jferelisiet & ar
gaeafas § fSedr geaaAeT HaAe:  16u AR
18ug| FHA H oI FHEUTARN I Ul 3:1
¢ 39 FAHA A Jierdiotel $T 3FT WA
GTATT T gram?
(@) 17.5u
(b) 17u
(c) 16u
(d) 16.5u

140.9RR13E Y 'UrRIfFAA ATAS grAfT @r
3T Xl § ST
(a) TFT AT & TR T AT F==ar &
(b) EeTcHeeT &1 PRI Htar §
(c) T X AT T §
(d) ITHTIEAT FT AT IWGAT §

141 ATSCIDIe3AT YT 3cUIGeT Fld H TETH §
(a) 1A+
(b) ST
(c) FARITAES
(d) 9T USTigH
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142. Which one of the following organelles is not 142 fArAfaf@a & ¥ &l a1 371 SHRRARCH

found in prokaryotic cells?
(@) Cell wall

(b) Mitochondria

(c) Plasma membrane

(d) Ribosome

143. Damage to the apical meristem of a
growing young plants will affect the
(a) Length of the plant
(b) Colour of the flower
(c) Colour of the leaves
(d) Taste of the fruits

144. The oxygenated blood from the lungs is

received by

(@) left atrium

(b) left ventricle
(c) right auricle
(d) right ventricle

. Statement I: Phytoplanktons produce most of

the organic carbon in the ocean.

Statement I1: Alage are produced in the cold

water biome.

(a) Both the statements are true and statement
Il is the correct explanation of statement I.

(b) Both the statements are true but statement
Il is not the correct explanation of
statement .

(c) Statement | is true, but statement Il is
false.

(d) Statement 1 is false, but statement Il is
true.

. The accidental touch of nettle leaves creates a
burning sensation, which is due to inject of
(@) hydrochloric acid
(b) methanoic acid
(c) citric acid
(d) formic acid

FIfAFBT F A qraT SATAT 8?2
(a) Tl Era”

(b) FATEIRITegAT

(c) TolreAT Eeelr

(d) TSSrEH

143.0 wgd gU a1 ol & RER fersaias
AT & FHIAT g
(a) ey #r FaTS
(b) el T T
(c) afcat =T 1
(d) Sell 1 FaTE

144. %Wl & JieFISTel Jebdl Tl fehdieh canT
gred fohar ST &
(a) STT e
(b) ST gfgher
(c) grar HiRera
(d) grar dfgemer

145Ul |1 WIgICelishesT HHg H 3ifashrer

FIIfAP PIoeT BT 3cUTGT A &1
FYA |I: 33 U6 & ST H Volol &l
3cqTesT BT gl

(2) el YT AT § IR FUA 11 FUT | Hr
el SATEAT B

(b) ST HUT T § Afhed FUA || HUT |
$r FEr crEar JEF B

(C) HYA 1 TT §, AfheT FHYUA 11 3T &l

(d) FYUT |1 31e9d &, dfhad YT 11 TT B

146.f3B3T & dedl &7 R {EHS FAL Fefel YaT
FAT &, ST SO & HROT g &

(a) esgFaRs Tfas
(b) #dete® TS
(c) @rsfeesr wfds
(d) Piffw s
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147. Who among the following shared the Nobel

Prize in 1962 along with Francis Crick and
James Watson for their discoveries
concerning the molecular structure of nucleic
acid?

(@) Erwin Chargraff

(b) Maurice Hugh Fredrick Wilkins

(c) Rosalind Franklin

(d) Phoebus Levene

. Who among the following had performed the
world’s first heart transplant?

(@) Dr. Venugopal

(b) William Harvey

(c) Christian Bernard

(d) William Betrick

. The gap between two neurons is called a
(@) Dendrite

(b) Synapse

(c) Axon

(d) Impulse

150.The elements that present in Protoplasm
(a) Carbon, Hydrogen
(b) Carbon, Hydrogen, Nitrogen and Oxygen
(c) Carbon, Nitrogen and Oxygen
(d) Helium, Carbon, Oxygen

147 rfaf@d # @ et 1962 # gfaerh

vf@s T 3urfas ST ¥ &9 @t &
T wifgw fhe 3R SFw acaa & ary
sAldel qIERR AqTAT fohar ar?

(a) fasr TRam™H

(b) FRE e drsR Rafeea
(c) iz therfaa
(d) Preew S

148. AT &T Ugell g&d YcIRIIUT foiest & &
e foRar ar?
(a) ST. dugendTer
(b) faferasr grdt
(c) TrfRaaa a8
(d) fafersr Sfew

149.81 73T & e T 516 ! AT Fed &
(a) SwAgIST
(b) ET9H
(c) 3FdlsT
(d) $F¥9ed

150.5Maged # 39U dca
(3) I, g
(b) FIEA, g3, ASeroTeT 3R 3iTerdrste
(c) e, AScroreT 3T et
(d) oA, Frest, JiterdierT
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INSTRUCTION

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU
SHOULD CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY
UNPRINTED OR TORN OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT
REPLACED BY A COMPLETE TEST BOOKLET.
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in the Box provided alongside. Do Not write anything
else on the Test Booklet.

. This Test Booklet contains 150 items (questions). Each item in PART —B is printed both
in Hindi and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is more
than one correct response, mark the response which you consider the best. In any case,
choose ONLY ONE response for each item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided. See
directions in the Answer Sheet.

. All items carry marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent
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. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE

OBJECTIVE TYPE QUESTION PAPERS.

0] There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidates, one-third of the marks
assigned to that question will be deducted as penalty.

If a candidate gives more than one answer, it will be treated as a wrong answer
even if one of the given answers happens to be correct and there will be same
penalty as above to that question.
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